
 1 

 
 

Item # | Product Name:   #302057 Pergola or Gazebo Mounting Kit 
 

Parts List: Tools Needed: 

1.  Aluminum mounting plate, 8” x 12”, qty 4 1. Ratchet 

2.  3/8 stainless steel nylock nut qty 4 2. 9/16” socket 

3.  3/8 heavy washer qty 8 3. 9/16” wrench 

4.  3/8 x 3 1/2” Bolt qty 4 4. Drill 

5.  3/8 lock washer qty 4 5. 7/16” drill bit 

6.  Not supplied – bolts and nuts for attaching Pergola 
or Gazebo to the mounting plate as there are too many 
variations. 

  

  
 

 

Assembly Instructions: 

1. It will work best to get a rough idea of where the Pergola or Gazebo will be located on the dock. 

In most cases the posts will be attached near the outside edges of the dock. In some cases it may 

be attached to an H-beam in the dock by removing the existing bolt.  

2. Place the Pergola in the desired location on the dock. Slide a mounting plate under each post so it 

aligns with a slot in the deck and the post. Move the Pergola and plate as necessary. The 

mounting plates may also be turned to any position that allows it to align properly.  

3. Mark each plate where a hole will be drilled and it will align with the slot in the deck. Remove 

each plate, one by one, drill a 7/16” hole and return it to its position. Insert a 3/8 x 3 ½” bolt 

through the hole and into the deck slot to help keep it aligned. 

  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

www.wavearmor.com 

Mounting plates 



 2 

 

4.  Once all of the mounting plates are in place and the Pergola is aligned with the plates then the 

holes to mount the Pergola to the plates can be marked and drilled. Fasten the plates to the 

Pergola with either a flat head tapered bolt or a truss head bolt inserted from the bottom of the 

plate. Using one of these types will avoid damaging the dock surface. 

 

 

 

 

 

 

 

 

 

 

 
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                     
 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 

5. Secure the mounting plates with the Pergola or Gazebo attached to them to the dock using the 
3/8 x 3 ½” bolts with a heavy washer on top and one on the underside of the deck. Tighten them  
securely with the 3/8 nylock nuts. 

Pergola or Gazebo posts 

Flathead tapered bolt Truss head bolt 


